Jr

James Ross

ROSSILATOR - MANUAL

RSxxxxA Series

JR — STD — HD / Junior — Standard — Heavy Duty
V4.2, July 2006

INSTALLATION AND MAINTENANCE
INSTRUCTIONS

James Ross Limited
4503 Rowsome Road East
Elizabethtown, Ontario
Canada K6T 1A9
Telephone: +1 613 342-7734
| PAPER Telefax: +1 613 342-8439
J 7 1} PERFORMANCE E-Mail: service@jamesross.com
GROUP

Homepage: www.ibs-ppg.com



Rossilator Manual

Jr

James Ross

1 GENERAL ROSSILATOR INFORMATION 3

2 SYSTEM DRAWINGS 4
2.1 WITH SPEED REFERENCE (SEE ALSO CHAPTER 4.2)....ccutiiieetiieeeciee ettt e ee ettt e e etee e eeiteeeeetaeeeeavaeeetsseeeaassesesssaeeseaneeeans 4
2.2 WITHOUT SPEED REFERENCE (SEE ALSO CHAPTER 4.2) ...eiiiitiiiiiiiieeeciie e ettt e e ettt e eeteeeeeteeeeeaaaeeeeavaeeeeassesesnsaessnasaeaans 5

3 ROSSILATOR SPECIFICATIONS / JR -STD - HD 6
3.1 N) 3206113 (NN (0) NN €(0)Y 1Y (03N KO TN 5 551 (6] 5) 21 5 7
3.1.1 Printed Circuit Board (details $6€ PCB MARNUQAL) .............c..oeeeecuiieeeeiiieeeciieeesiieeeeeiteeesiaeeeeseseeessssessssseaessssesesnnns 7
3.2 COMMON ROSSILATOR MOUNTING OPTIONS ....ooeiieieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeesesesssssssesssssssssesssssssesesesssssssessnns 8

4 INSPECTION BEFORE INSTALLATION 9

5 THE ROSSILATOR SYSTEM 10
5.1 (0001 1300)1 23N 1 10
5.1.1  EXternal SPeed SENSOT: .........c..ccceevuiiiuiiiieiiiieeiiecte ettt ettt s st et e s 10
5.1.2  ROSSILATOT COMIFOLS: c...cceeeeeeeeeeeeeeeeeeeeeeeeee e ettt e e e ettt e e e e e e e et ee e e e e e e e e aaae e e e e e e aaaeaaeeeeeseaaaaaeeeeesanas 10
S.1.3 OSCILATOT ettt e e e ettt e e e e e e e ettt e e e e e e e et ee e e e e e e e e aeaeseeeeeaaaaaeeeeeseaaaaeaeeeeasanas 10
5014 CADILES ..ottt e e e ————————t e e e e e —————teeeeeeaa——————eeeeesaa———tteeeesaenaaaaees 10
5.1.5  PrOZEAIM CRANGES .........coueeeiiieniieiieie ettt ettt ettt et et sttt ettt et s ane s aeesae e st e st eanesenesueesneenneas 10
5.2 THE ROSSILATOR OPERATION .....ccooiiiiiiiiiiiiiieeeeeeeeeeee ettt ettt e e et et e e e e e e e e e et e e et e et e e e e e et e e et et eeeeeeeeeeeeeeeeeeeeereeeseneeerenees 11
5.2.1 Rossilator Operation: (with speed reference — external pulse, see also chapter I)............ccccoeceevuevvciienuennnce.. 11
5.2.2  Rossilator Operation: (without speed ref. — internal pulse, see also Chaprer I)...........ccccovvveevceiinoienniiiineennneenn 12
5.2.3  PCOB SHATT-UP SEIINGS ..eeoneeeeieteiieett ettt ettt ettt et ettt ettt e et e bt e e bt e bt e sttt e bt e sabt e e bte e bt e e bt e eabteebaesbeesbaeenbeean 12

6 ROSSILATOR INSTALLATION 13
6.1 ALIGNMENT AND INSTALLATION PROCEDURE ......cuuvviiiiieiiiiieeeeeeeeieeiinreeeeeeeeesiseseeeesseesissssseseseesssssssssssssssssssesssssesnnns 14

7 ROSSILATOR MAINTENANCE 16
7.1 REBUILDING SERVICE AT JAMES ROSS ....coiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee ettt 16
7.2 ROSSILATOR DISASSEMBLY PROCEDURE .......cccoiiiiiiiiiiiiieieeeeeeeeeeeeeeee e et et e e e e e et e e e e ee e e e e e et e eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeereeerenens 16
7.3 SENSOR REMOVAL AND REPLACEMENT PROCEDURE ......coiiiiiiiiiiieieiieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseeeeeeeeeseseeesesesesesesenesens 17
7.4 ) 6] 2323 (0N & (0 APPSR 18

8 ROSSILATOR SPARE PARTS 19
8.1 RECOMMENDED SPARE PARTS FOR ALL ROSSILATOR TYPES ...cceceiiiiititterieeeeeeiiteeeeeeeeeesisreeeseeeessisnsssesesesssssserseeseennns 19
8.2 HIGH TEMP VERSIONS — SPECIFIC SPARE PARTS ....coiiiiiiiiiiiiiiee ettt ettt eeetaee e e e e eeeaataeee e s eeesaaaaaneeeeeeenns 19
8.3 ROSSILATOR — EXPLODED VIEW .......ciiiitittiiiiieiiiiitteeeeeeeeeiiteeeeeeeseesiaseeessessessisssssesesseesissssssseseesssssssssesessssssreseeeseeanns 20
8.4 JUNIOR ROSSILATOR — SPARE PARTS LLIST ....tiiiiiiieeieeiieeieee ettt eeete et e e e eesaaaae e e e e eeesaaataseeeseeesnansaseeeeeeanns 21
8.5 STANDARD ROSSILATOR = SPARE PART LIST ...vvvviiiiiiiieiiieeeieeeeeeiitteeeeeeeeesssaeeeeeeeessssssssesssessessssssssessssesssresseeseennns 22
8.6 STANDARD HIGH TEMP ROSSILATOR — SPARE PARTS LIST ......uuviiiiiiiiiiiiieieiee ettt eee e e e eeenns 23
8.7 HEAVY DUTY ROSSILATOR — SPARE PARTS LIST .....cciiiiiiiiiiiieeieeiitieeieeeeeeeiteee e eeeeesiaaeeeeeeeeesaaaaeeeeseeesnansaneeeseennns 24
8.8 HEAVY DUTY HIGH TEMP ROSSILATOR — SPARE PARTS LIST.....uuvuiiiiiiiiiiiiiieiee ettt eeeeivteeee e eeeeaivaeeeeeeeenns 25

9 TROUBLE SHOOTING 26
9.1 ROSSILATOR DOES NOT STROKE AT ALL OR STOPS IN MID STROKE ........cccottiiiiiiiiiiiiiiiieieieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeenens 26
9.2 GENERAL INSPECTION OF CONTROL PANEL ....ceiiieieiiieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseseseessssssssesssssesesssssesssssssssseeses 26
9.3 (€352 37N 0 0N 220 (O ) T SO TN | 7N N 0) 26
9.4 NOPOWERTOPLC ORPCB ...ttt 26
9.5 WHEN STARTED THE ROSSILATOR MOTOR IS ON BUT IT DOESN T MOVE.......cccitiiiiiiiiiiiiiiieieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeenens 27
9.6 WHEN STARTED THE ROSSILATOR RUNS FOR A FEW SECONDS, GOES INTO ALARM AND SHUTS DOWN.........cccevvvereen. 27
9.7 WHEN THE ROSSILATOR GOES OUT TO ITS MAXIMUM LIMIT, JAMS, GOES INTO ALARM AND SHUTS DOWN.................. 27
9.8 WHEN USING A SPEED SENSOR OR ANALOG INPUT (FOR MACHINE SPEED REFERENCE).........ccccvttiririeeniieeennreeeennnnens 28
9.9 FORWARD OR REVERSE OPERATING WHEN THEY SHOULD NOT ......ccooitiiiiiiiiiiieieeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeesesseeseseseeeeenenens 28
9.10  ROSSILATOR IS EMITTING EXCESSIVE NOISE........ccttttttttiitiiiiiiiieeeieeeieeeteeeteeeteeeeesetereseseteseseteteretererereeerererererererereeees 28

10 WARRANTY AND GUARANTEE 29
10.1 REBUILD GUARANTEE ....ccceiiiiiutttteee et eeeiiteeeeeeeeeesaaeeeeseesessaaseessesseesatsesssesseasasssseeesseassssssssseseeasssttssseeseeessarseseeeseeanns 29

11  JAMES ROSS CONTACT INFORMATION 29

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 2



Jr

Rossilator Manual James Ross

1 General Rossilator Information

The Rossilator is an electromechanical shower Oscillator originally developed by James Ross several
years ago. About every 5 years the Rossilator has undergone major improvement and upgrades. Still up
until today the Rossilator has the reputation of a low cost and reliable shower oscillator. Based on repair
history and customer experience the expected life span of a Rossilator is 7 to 10 years, depending on
the environment and quality of installation

Over the years several thousand Rossilators have been put in operation worldwide. There are various
types of Rossilators available, Junior, Standard, Heave Duty, Hi Temp and 18” and 36” Versions.

On the outside the Rossilator still looks the same as originally designed and manufactured, mainly to
accommodate existing mounting patterns and footprints for easy swap with old worn out units. Big steps
in Rossilator upgrades can be recognized by the serial number revisions. Serial numbers can be found
on the end cover plate or the front cover plate.

Most significant upgrades recognized by the serial number change:

e 1990: 8000 Series had been upgraded

e 1996: RSxxxx Series had been introduced

e 2002: RSxxxxA Serial Number was introduced. The letter “A” at the end the serial number is
related to the most current model. Each and every part of the Rossilator, from the motors to
the simple items like bolts, had been going through design changes and modifications.

End cover with Serial Number

Manuals for old Rossilators can still be obtained from James Ross Limited. (Contact information pls.
find on last page of this manual)

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 3



‘'03AY3ISIY SLHIY TV "O3ALIAN SSOH SIAVP 40 INISNOO NILLIMM S3IHIND3Y
NOILNGIMLSIA HO NOILYOMENd ‘NOILINACYdIY  TIVILNIANOD ANV ANVLIINdOMd S|
ANV Q3LINMT SSOd S3IAVM 40 ALd¥3d0dd F10S 3HL SI NIF¥3IH dINIVINOD v1ivO 3IHL

LY8O000ONLO

‘ON ONMYHAa
PeBII®) 1006 O8I UY
| 40 | 3vd oniep 30 10quks v
SIN H«omi SVLA8 %0 | pajpiwy] $s0Y Sawep

James Ross

£1/10/00 mb\i STd A8 NMO

JON3IH349d d39dS HLI
NILSAS JOLVIISSOd [

NOILdI¥OS3a

3Lva

AGATY|

SOYYANYLS M3IN 0L d31vadn

60/50/10)

ST

A1ddNS gIMOd—

th speed reference (see also chapter 4.2)

mmm&/; INIWNHOVLLY 40 QOIFMEV
YOSNIS g334s (1)

1104 INIHOVA

11vL13d NOILOINNOD 1vOId103713
dO04 OILVWIHOS IVOI4L03 13 33S

IYNOIS O0TMWNWY YW 02—+ (1)

JYVANVLS

®©

NO 440

HJOLVTISSOH

A3LNIT sSOd SINVP

[wwsg /11,0829

[wwyeel]

~— ,005¢ —" i

[wuwggsl],052°9

MNIT ONOILOINNOO

[wweglg]
52900

NOILISOd 3NOH

[wuwgg)lee T~ LWwErlelsieT

[wuwg/16],5219¢

SNOILOINNOO
TOHLNOD JOLVIISSOd

JOLVTISSOd OL

[wuwg 1pp],5/20/1

HOLVISSOd QUVANVLS

Rossilator Manual
2 System Drawings

21 w

Rossilator JR STD HD Manual V4.2 Jan 2006.doc



James Ross

Rossilator Manual

2.2 without speed reference (see also chapter 4.2)

NOILNEI¥LSIA 8D NOILYOII8Nd ‘NOILONAO¥d3Y  “IVILNIQIINOD ANV Adv13Md0dd SI

"03AN3:

IS3 SLHOIY TV "G3LINM SSOd SINVM 40 INISNOD NILLIYM S3HIND3H

ONV G3LINIT SSO¥ SIAVF 40 AL¥3dO¥d 310S IHL SI NIZ¥3IH GINIVINOD VLIVQ 3IHL L HA_ & QM_ HA_ mH_ m \ﬁ D O I\ﬁ <</

0V .LO000NWLO

SIN H<om7 A8 >HO | pajiulT ssoy sawep

€1/10/003wva|  STdA8 WO

.,.”.._,__F.o_,"_.nxm_s® NTLSAS HOLVTISSOY "AlS

NOILdI¥OS3a

3Lva  |ABMHO|AE'AIY|'AZY

1V13d NOILOINNOOD 1vOI4L0313
d04 OILVNIHOS TvOI4L0313 33 ‘310N

A1
it
il
g
il
g
il
g
/

\

e

A

[wwgi/1],052°9

A1ddNS dIMOd——

JOHLNOD dOLYIISSOY

HOLYTISSOY

J4VANYLS

©

NO 440

A3LINIMT SSOH SINVP

[wwzest]
005G

NOILISOd 3NOH

[wwelellereg T [wwevielseet

[wwoz16],521°9¢

SNOILOINNOO

dOLv1ISSOd OL

- [wwetpy 6oL

]

7

[wweslp]

<

T I=

«529°00

MNIT ONOILOINNOO

JOLVNSSOd JdVANVLS

Rossilator JR STD HD Manual V4.2 Jan 2006.doc



Jr

Rossilator Manual

James Ross
3 Rossilator Specifications / JR — STD - HD
Showered | Nominal || Max. || Motor . . .
Surface Thrust | Temp. | Size Overall Dimensions [[Weight
Junior Up to 150” 250lbs 150 F 18.6W 6.75” X 6.25” X 32.75” 48lbs
|Rossilator 3810mm 1.13kN 65°C ’ 171mmX159mmX832mm | 21.8kg
Igg;ﬂ:{gr Upto250” | 424lbs | 150F | o o | 6.75"X6.25'X 36.125" | 52lbs
6350mm 1.89kN 65°C ' 171mmX159mmX918mm | 23.6kg
Heavy Duty | Over 250" | 12151bs | 150 F 31.3W 6.75” X 6.25” X 39.75” 55Ibs
Rossilator 6350mm 5.40kN 65°C | 171mmX159mmX1010mm]| 24.9kg
High Temp. U ” | F » ” ”
Standard p to 250 4241|bs 275 31.3W 6.75” X 6.25” X 36.125 52lbs
. 6350mm 1.89kN 135°C ) 171mmX159mmX918mm | 23.6kg
Rossilator
:Lga*“,'rf)’:f Over 250" [ 12151bs | 275F | 5. o | 6.75'X6.25"X39.75" | 55lbs
YOUlY 1 6350mm | 5.40kN | 135°C | °' " [171mmX159mmX1010mm| 24.9kg
Rossilator
Qé?%g\
oS
S _
| 12.375 | 6.375 T
! [314.3mm] T [161.9mm] § 5 [139.7mm]
33.750 ° g 6.500
[857.3mm] é‘? ss\ [165.1mm]
S
5 _
5T
| 12.375 | 6.375 T
! [314.3mm] T [161.9mm] § 5 [139.7mm]
36.500 ° g 6.500
[927.1mm] é";ss\ [165.1mm]
Fo

12.375

6.188
[157.2mm]

6.375

40.125

[314.3mm]

[161.9mm]

3.500
[88.9mm]

[1019.2mm]

Rossilator JR STD HD Manual V4.2 Jan 2006.doc

[139.7mm]

6.500

[165.1mm]




Rossilator Manual

Jr

James Ross
Speca | Spesa | Box | Serew | Advance | Min. [CL0CE) one Step
50Hz 60Hz | Ratio 50Hz 60Hz
|‘I!1I:>2isci)lgtor 60 RPM| 72 RPM | N/A [g.gr?ﬁ;] [g.';ﬁ?;] [(())..gri(r)r’;] 0.41 sec.| 0.34 sec.
crancard [ eorem| 72 RPM | N/A [g_'ﬁ?]?;] [g_'fﬁ?;] [10_'8;?;] 0.20 sec. | 0.17 sec.
reavy Dutyl 6o RPM [ 72 RPM | 1:3 [g_'ﬁ?]?;] [g_'fﬁ?;] [10_'8:;?;] 0.61 sec.| 0.51 sec.

3.1 Specifications common to all models:

Four 2" UNC or M12 mounting bolts.

Step Increment 1mm, 0.04”

Possible stroke length of 0.04” — 12” [Tmm — 305mm].

Universal options to connect Rossilator to shower.

Mounting Bolt Pattern: 5.5” X 12.375” [139.7mm X 314.3mm]

Rossilator motor voltage is 120 VAC single phase, 1 AMP (max)
Two Sensors: 24 VDC or 120 VAC, inductive proximity sensors

e Can be controlled by PCB (printed circuit board), PLC or machine DCS.

3.1.1 Printed Circuit Board (details see PCB Manual)

Dimensions 45" x8” (114 x 203)
Power Supply 120 vac, 5 amps (Typical amps)
Frequency 60 or 50 HZ
Temperature Ambient 100° F (38° C)
Humidity 90%

Watts 600 watts (120 typical)
Inputs 120 vac

Motor Output 120 vac (Triac)

Status Output Dry Contact

Water Control Output Dry Contact

Felt Extender Output Dry Contact

Rossilator JR STD HD Manual V4.2 Jan 2006.doc



James Ross

LHORSLB00Y90 ‘DN SRIMYHD Auodes peulel 100S 081 LY m ZO 7 ;r n_O FHOVE LRI ON DM m Z D_ F n_o
(o T TR s 10 s v e ONILNNOW HOLV1ISSOY s e DONILNNOW HOLlv 1SS0
FOA0/00 Tva] G AT WA PRI RS 0L SN0l YOR0/00 Lva| AT A0 R
"1S03 mm_,.,nrm TJHL NI IDHTHD dN NY JHINOD3H A¥K NOILLO m:,ﬁ: Z4d01 mEq,n MNIT HOLTISSOM
7 407 B L2 SHAMOHS 3did ¥ NI 3did NI 317 IFAY ATNO —
Iﬂ ANHIVW 40 QUV08LN0 3did d3LN0 P o
HIMOHS NO 03LNNOKW H01Y 1SS0 : F=
Y IJAL TINCIND 98 NOILJO* thal
@ N 7EES ALND AAVIH
ek " yzg | 619l f=— EWE —ef= EL¥F OUYONVLS~ —
o 9'65E HOINAI . - . L )
E177 VANV LS==— £7E —= 619 —77e - L2
F'SSE HOINMT SHIAMOHS 3did ¥ NI
[ 3dlld NI 3787 I¥AY ATNO "3dld 2FMOHS
WOHd 135440 INHIWIW 20 Jd¥OEN

3did 831N0 NO O3LNNOW JO01¥SS0Y
(.. IdAL 1ITIVIVd) €8 NOILJO

3dld HIMOHS JHL ONNOYY 09E (31910 38 N¥I AN ONILIINNGD J°. JdAl)
\lA SuL (SIXY NMO Sl ONNOYY o09E 031V10d 38 NV H0LvISSod)

S T "3dld HIMOHS WOZ 13540
: ANHIVYIW 40 QdvOanl O3 INNOKW
L EEG ALNG AAYEH g \#/r Sl ATLNIANISIAN HOL¥TISS0d
— EES ALND A/ TP L8 32A1 131 1WEvS) 2% NOIL2O
m 5 CLYY QUYONYLS=— £9lE —=f &10L | vYlE - Sl . b T A ! _&_
9'SSE HONNT = g i HWWW “““““““““““““““ nep !
! BN !
[ Y T
TEES ALND AAYIH =8
t E177 QUVONVIS==— E7iE —| x 3
9SSE HONT g & g SINIT
Tl ZL_ ONILIANNOD
i L I —t -8, IdAL
/ 07 HIS .£ 32I5 3did WNWIWIW ‘3did 83MOHAS NO

~— XNIT HOLV1ISS0Y
6L%L 7ye - LZl

/ INIHIVYIW 40 Adv08nI O31INNOW HO1¥TISSO
LY, 3dAL T 1vdYd) 5% NOILdO

(3dld HIMOHS FHL ONNOYY <098 031¥10H 39 NvJ
ZINIT ONILIINNGD L8 IdAL) (SIXY NMO S1
(o }]

ONNQYY o09E 031V10dW 38 N¥I 0LV

YEES ALND AAVIH
Piﬁ|n.3n|\_l €L7Y OHVONY LS~
& FG5E HOINAT

I
I

"3did YIMOHS WOMH 135440
ANHIVK 40 0dv08LN0 03LNNOK
ATINIONILIANI HOLV TSSO
JdAL TIITIVEV 1 # NOILJO)
7EES ALNO AAVIH
&lel _l| EVLE E'l77 O4VONV LS
1708 X3H _ 9'5SE HOINNM

| e - ‘wmmwxf|l~
SZ X ZLW

"3dId HIMOHS HLM NN SNHIVI 30 fi @
0X¥081N0 UILNNOW ATLNIONIIONI HOLY ISSOY %HHA
(¥, 3AL INIIND 72 NOILJO SN H0LYISSOH —— 1 =

YULE - 7L —p—]

AyA=1S
Al
BE

Rossilator Manual
3.2 Common Rossilator Mounting Options

Rossilator JR STD HD Manual V4.2 Jan 2006.doc



Jr

Rossilator Manual James Ross

4 Inspection before Installation
Before installing your new ROSSILATOR™ carefully inspect all components for any shipping damage.
Check ROSSILATOR™ unit for:

bent clevis or tie rods

dented housing

loose or damaged control cables
damaged connecting link

bent clevis

proper voltage and sensor type

Check control panel for:

e dents
e damaged switches
e |oose wires

If damage has occurred in transit, report this immediately to the carrier and please contact your JAMES
ROSS LIMITED representative or JAMES ROSS LIMITED Customer Service directly for instructions.

NOTE: If your ROSSILATOR has been purchased as a spare or replacement unit, the
nameplate at the rear of the ROSSILATOR should be checked for sensor voltage and
type to ensure compatibility with existing control equipment.

PLEASE DO NOT SHIP ROSSILATORS BACK TO JAMES ROSS WITHOUT CONSULTATION.

JAMES ROSS LIMITED PHONE. (613) 342-7734
4503 ROWSOME ROAD EAST 1-800-493-6663
ELIZABETHTOWN, ONTARIO, CANADA FAX: (613) 342-8439
KeT 1A9 E-mail: Customerservice@jamesross.com

Website: www.ibs-ppg.com

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 9



Jr

Rossilator Manual James Ross

5 The Rossilator System

Normally, Rossilator oscillation step distance is approximately equal to the shower nozzle orifice.
Step distance can be adjusted as a multiple of minimum step distance with any control option.
The Rossilator is normally stepped for every revolution of the fabric/felt to provide even cleaning.

5.1 Components

5.1.1 External Speed Sensor:

Used to monitor machine speed. The speed sensor is connected to the paper machine on any easily
accessible motor, machine roll or drive shaft. The maximum frequency to the ROSSILATOR system is
1500 cycles per second. (Optional)

5.1.2 Rossilator Controls:

Operation of the ROSSILATOR™ is controlled by a small PLC or PCB housed in a Nema 4 enclosure. It
is used to control ROSSILATOR™ forward and reverse movement, stroke length, motion detection, no
motion alarm, water solenoid operation and customer status signal.

5.1.3 Oscillator

This is the working part of the ROSSILATOR system, a cylindrical unit constructed entirely on the
outside of 316L stainless steel, sealed against outside contaminants. Enclosed within the stainless steel
housing is an AC synchronous motor, home and motion sensors and an ACME screw. Extending
through the forward end of the housing is the stainless steel thrust tube that transmits the
ROSSILATORS movement to the shower.

5.1.4 Cables

The Rossilator is supplied with two CSA/UL/VDE approved cables and receptacles that incorporate a
keyway to prevent incorrect mating of the cable plug and receptacle. Care should be exercised in
ensuring proper orientation and not forcing the connection of the plug and receptacle. The cable is “not
for interrupting current.” The electrical supply to the Rossilator must be off prior to removal or
installation of the cables to the oscillator receptacles. The cables should not be connected or
disconnected under load.

5.1.5 Program Changes

To modify a PLC program a hand held programming console is required. Should it become necessary
to change the program, contact JAMES ROSS LIMITED - Technical Department for assistance.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 10



Jr

Rossilator Manual James Ross

5.2 The Rossilator Operation

5.2.1 Rossilator Operation: (with speed reference — external pulse, see also chapter 1)

To enable this mode, the “INT” jumper must be removed (if using a PLC).

If a PCB is used, select “Pulses” as the Timing Mode via pushbuttons and the LCD display on the PCB.
Refer to Electrical Schematics supplied with order.

The speed sensor (supplied separately from the ROSSILATOR™ for speed sensing) is connected to
the paper machine to produce pulses in a direct ratio to the speed of the felt or fabric. The signal from
the speed sensor is fed to the PLC or PCB mounted in the control panel. A counter in the PLC or PCB
counts the pulses and, at a preset value, energizes the ROSSILATOR™ for a brief period. The motor
rotates and advances the thrust tube, clevis and shower pipe one increment of the total stroke. The
operation is repeated until the PLC or PCB reaches the preset value of the required stroke. Once the
preset value of stroke is reached the PLC or PCB will set the ROSSILATOR™ in the reverse mode.

The thrust tube retracts exactly the same as in the forward mode until the home sensor signals the PLC
or PCB to activate the forward mode.

The function of the motion sensor in the ROSSILATOR™ is to act as a motion monitor for the PLC or
PCB. Terminals are provided in the control panel to activate a solenoid valve (Mill Supplied) in the
shower water supply line and to cut off the water supply in the event of a machine or ROSSILATOR™
failure.

An interlock input (customer interlock) is available to remotely start and stop the ROSSILATOR™
should the showered surface (fabric, felt, and roll) either start or stop moving. The OFF/ON selector
switch on the face of the enclosure must be in the ON position to incorporate this feature. Should the
interlock input not be used, then a jumper must be placed at this location (see control panel wiring
drawing supplied).

ROSSILATOR OPERATION: (WITH SPEED REFERENCE - 4 TO 20 mA ANALOG SIGNAL)

To enable this mode, the “INT” jumper must be removed (if using a PLC complete with an analog input
card). If a PCB is used, select “Analog” as the Timing Mode via pushbuttons and the LCD display on
the PCB. Refer to Electrical Schematics supplied with order.

The 4 to 20 mA signal is fed to the PLC analog input card of the PCB which is mounted in the control
panel. The analog current level is detected and based on that level will cause the ROSSILATOR™ to
make one increment of the total stroke corresponding to one revolution of the fabric being showered.
The operation is repeated until the PLC or PCB reaches the preset value of the required stroke. Once
the preset value of stroke is reached the PLC or PCB will set the ROSSILATOR™ in the reverse mode.

The thrust tube retracts exactly the same as in the forward mode until the home sensor signals the PLC
or PCB to activate the forward mode.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 11



Jr

Rossilator Manual James Ross

5.2.2 Rossilator Operation: (without speed ref. — internal pulse, see also chapter 1)

To enable this mode, the “INT” jumper must be inserted when using a PLC. When using a PCB, select
“Internal” as the Timing Mode via pushbuttons and the LCD display on the PCB. Refer to Electrical
Schematics supplied with order.

If the machine speed is constant a speed sensor is not required. A preset value for an internal timer is
determined by calculating the average machine speed and the average speed of the felt or fabric.
When the preset value is reached the ROSSILATOR™ is energized for a brief period and the
ROSSILATOR operates exactly as described on the previous page. The only difference being that the
motion sensor will only cut off the water supply in the event of a ROSSILATOR™ failure due to the fact
that without a speed sensor the PLC or PCB does not detect actual machine speed.

If the paper machine should stop, an operator would have to turn the selector switch to the OFF position
on the control panel to stop the ROSSILATOR™ and cut off the water supply, or if the “customer
interlock” is connected to the PLC or PCB, then it will stop the ROSSILATOR™

5.2.3 PCB Start-Up Settings

Prior to putting the ROSSILATOR™ into service, presets are inputted into the PCB via the pushbuttons
and LCD display on printed circuit board (PCB). The following presets must be entered by the customer:

Model (“Standard” or “Junior” or “Heavy Duty”)

Timing Mode (“Internal” or “Pulses” or “Analog”)

Units (“Inch” or “mm”)

Stroke ([0.04" to 12.24"] or [1 mm to 314 mm)])

Dwell (“time for Internal Mode” or “# of pulses for Pulse Mode” or “fabric length & machine speed
for Analog Mode”)

e Attack Angle (“# of stokes for Penetrating” or “# of strokes for Chiseling”).

NOTE:
Attack Angle is used only if the shower is outfitted with a variable angle Felt Extender device.
Refer to electrical schematic provided with your equipment for detailed PCB preset procedure.

The ROSSILATOR™ will return to the “home” position on power up or shutdown.

The customer status normally open (N.O.) relay contact is closed (energized) during normal operation.
The water valve control (N.O.) relay contact is closed (energized) when operating.

The status lamp is - “OFF” when not operating
- “ON” when the system is operating
- “flashing” when a fault is present

All inputs and outputs have an LED on the printed circuit board (PCB) to indicate status.

Additionally, input and output status as well as position and alarm conditions are displayed on the LCD
display.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 12



Jr

Rossilator Manual James Ross

6 Rossilator Installation
1. Install the ROSSILATOR™ unit on the mounting bracket.
2. Check shower pipe for free movement. The shower pipe must move freely in its bearings.

3. Ensure that the centre line of the ROSSILATOR™ is parallel to the centre line of the shower.
See oscillation alignment/installation procedure Page 12.

4. Ensure there is no obstruction for a full stroke of shower.

5. Connect the ROSSILATOR™ to the shower with the appropriate connecting link supplied by
JAMES ROSS LIMITED. There are two types of connecting links available, Type A for inline
connections and Type B for offset connections (see sketches below). Both Type A and Type B
connecting links have double ended spherical rod ends to help eliminate any misalignment
between the ROSSILATOR™ and the shower.

TYPE "B” CONNECTING LINK

TYPE "A” CONNECTING LINK

ARRANGEMENT ARRANGEMENT
(- 37.3125” HEAVY DUTY —————#= —————— 37.3125” HEAVY DUTY —— = i T
a——— 32.8215” STANDARD ~——— 32.8215” STANDARD P
—#=— 6.000 ﬁ X

Ld Q 5.000” Fﬁ

]

B
E

NOTE: DIMENSION ”X” REQUIRED (G ROSSILATOR TO G SHOWER)

NOTE:
It is imperative that these links be installed; failure to do so will result in the voiding of the guarantee.
Rigid or slotted link connections are disallowed.

6. Mount speed sensor on bracket (if required) and couple to the roll (by customer).

7. Mount control panel in any convenient dry location, preferably in an MCC room. Run
ROSSILATOR™ control cables to the control panel and make the connections to the terminal
blocks in the control panel. Run wires (MUST BE SHIELDED CABLE) from the proximity switch
to panel and make the connections to the terminal blocks in the control panel. For control panel
terminal block connections see the drawings supplied with equipment. If the ROSSILATOR
control cables are run to a junction box, water tight fittings MUST BE USED. The cables running
from the junction box to the control panel MUST BE SEPARATE and the 24 VDC cables, when
applicable, should be shielded. Failure to do so may result in incorrect operation of the PLC.
The maximum total cable distance is 330' (100m).

8. Run power supply to control panel (120 VAC) and make connections to the terminal blocks in
the control panel.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 13



Jr

Rossilator Manual James Ross

6.1 Alignment and installation procedure

After the Shower has been checked for square, parallelism and freedom of movement, the oscillator
may be installed.

Place the unit into position and install the four (4) mounting bolts, to a point where the unit is held in
position, but alignment movement is still possible.

Use a straight edge lying along the top of the screw housing. Take two (2) measurements one at the
closest measurable point on the Shower and one at the furthest measurable point of the Shower. These
measurements should be identical. If not, steps must be taken such as shimming to bring the unit into
alignment.

For side alignment, take the same measurement as in Step #3 at 90° from the top of the oscillator and
true up accordingly. Tighten the mounting bolts.

Install connecting link. If using a type AB@ connecting link assembly, care should be taken to ensure it
is installed squarely.

NOTE:
For steps #3 and #4, if bearing housings or the machine frame create interference problems, two
straight edges may be used in unison, one on the oscillator, and one on the Shower.

For optimal performance, good oscillator alignment is essential. The maximum out of line angular
tolerance is 1.2° or .24" per foot.

SEE INSTALLATION SKETCH NUMBER 06M00605A0

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 14



James Ross

Rossilator Manual

"03AY3S3d SLHOIE TV "O3LINM SSOd S3INVM 40 LN3ISNOD N3LLIAM S3dIND3d
NOILNGI¥LSIA 0 NOILYOMANd ‘NOILONAOHd3Y  “TYILNIAIANOD ANV AdVLIIdodd SI
ANV Q3LINIT SSOd SIAVM 40 AL¥3dOdd 310S 3HL SI NIFY3H G3INIVINOD Viva 3HL

INIGANOTTY JOLV 1SS0

OVS0900M90 0 ayunvsia

| 40 | 3vd

SIN m%qui A8 MHO

S2/01/66 31va| ST ¥ A8 Mg

en[BA JO loquis v

pajiwyq ssoy sawep

D PelIRIeD 008 O8I uY

&

JIMOHS HSNH4G

NOILdI40S3a

3Lva  |AGMHO|ABAZS|

(SIXV HL09 ONOTY
L0210 NIHLIM 39 1SN MNIT 0009 dYVANYIS VvV "X3)

1004 d34d 0720 O .21 SI AONVHIT10L SV INONY INIT
HO 1IN0 WANIXYW FHL  TIVIINGSST SI INIGANITTY
HOLVTIIOSO d009 “FAONVWNHO443d IVWILJO H0O4 ‘410N
SNOISNINIG TvND3
LINA ¥3ANMAD dIV
OV SSON
EE [ — iy mM il
ﬁuw‘ T
/oy (2 | e
1\ =S i
AU M o/ /
| | = i
MOV TISSOY /
— EE
9 \ He- SNOISNINIQ TWNO3
A\ ]

ROSSILATOR Alignment Sketch 06M00605A0

15

Rossilator JR STD HD Manual V4.2 Jan 2006.doc



Jr

Rossilator Manual James Ross

7 Rossilator Maintenance
Any problems encountered with any of the ROSSILATOR™ family should be reported to JAMES ROSS

LIMITED. The serial number should be determined beforehand to enable us to better help you. The
serial number is stamped on the front housing of the ROSSILATOR™.

7.1 Rebuilding Service at James Ross
James Ross Limited provides rebuilding services for all its oscillation systems. Our rebuilds repair the
unit and upgrade it to current design standards. All oscillators rebuilt by James Ross Limited are fully
warranted for 12 months from date of installation or 18 months from date of supply. Contact your James
Ross Limited representative for further information.
7.2 Rossilator disassembly procedure

1. Remove the four 1/4" hex nuts (item 69) from the ROSSILATOR™ motor end cover (item 09).

2. Remove the motor end cover (item 09)

3. Disconnect control cable receptacle terminals (item 71, 72)

4. Remove motor housing (item 10) from the motor mount (item 07)

5. Unscrew the tie rods (item 11) from the motor mount (item 07)

6. Loosen the four set screws in the shaft coupling (item 63)

7. Remove the #10-32 hex head cap screws (item 64) from the motor mount (item 07)

8. Remove motor (item 67) from the motor mount (item 07)

9. Unscrew motion sensor (item 62) and home sensor (item 61) from the motor mount (item 07)

10. Loosen the two set screws from the motion target assembly (item 08) and remove

11. Remove the 1/2" socket head cap screw (item 50) from the clevis (item 01)

12. Unscrew the main drive screw (item 06) so that the thrust tube (item 02) is fully extended.

13. Remove the two 5/16" hex head machine screws (item 54) from the motor mount (item 07) and
finish unscrewing the main drive screw (item 06)

14. Remove the thrust tube (item 02) by sliding it through the thrust end plate (item 03)
15. Remove the circlip (item 55) that holds the main drive screw to the motor mount (item 07)
16. Unscrew the two guide rods (item 05) from the thrust end plate (item 03)

17. Using a scribe, insert it between the back of the brass scraper seal and the thrust end plate
(item 03.1) and pry out the silicone cushion ring, allowing removal of brass scraper seals.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 16



Jr

Rossilator Manual James Ross

18. Remove the circlip (item 03.51) from the thrust end plate (item 03.1).

19. Using the same procedure as in step 17, remove the two inner seals (item 03.50) and the two
bushings from the thrust end plate (item 03.1).

NOTE:

When replacing the inner thrust end plate seals (item 03.50) care must be taken that they are installed
back to back with the spacer placed between them.

7.3 Sensor Removal and replacement procedure

The ROSSILATOR™ s designed to operate in an extremely harsh environment and requires minimal
maintenance.

Should it become necessary to change the stroke or any of the other ROSSILATOR program settings,
please contact the JAMES ROSS LIMITED Technical Department.

The following procedure should be followed when changing sensors. Please follow these instructions
carefully.

1. Ensure that the ROSSILATOR is in the home position (fully retracted).
2. Remove the four (4) tie rod nuts (item 69) from the motor end cover (item 09).

3. Remove the motor end cover (item 09) from the tie rods (item 11). All wire connections from the
control cables to the motor, home (item 61) and motion sensors (item 62) will now be visible.

4. For steps 5 through 8 refer to the electrical drawing provided with the equipment.
5. Disconnect the two green ground wires from the motor ground stud.

6. Disconnect motor (item 67) wires.

7. Disconnect home sensor (item 61) wires.

8. Disconnect motion sensor (item 62) wires.

9. Set aside the motor end cover (item 09) and control cables.

10. Remove the motor housing (item 10) and set aside.

11. The motor and sensors will now be completely exposed.

12. Remove the home sensor (item 61). NOTE: The home sensor is the sensor on the upper right
hand side looking from the motor to the oscillating mechanism.

13. Screw the replacement home sensor (item 61) in until it bottoms out.

14. Back the home sensor (item 61 off one-half turn. This ensures the correct sensor distance. If
the sensor is backed off more than one-half turn it will not operate.

15. Tighten down the locknut on the home sensor (item 61), using caution as to not damage sensor.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 17



Rossilator Manual

16.

17.

18.

19.
20.
21.
22.
23.
24.

25.

26.

27.

Jr

James Ross

Remove the motion sensor (item 62) from its mounting bracket. It is the sensor on the right
hand side that does not penetrate the body of the drive unit.

Screw the new motion sensor (item 62) into its mounting bracket until it bottoms out on the
motion target (item 19).

Back the motion sensor off one full turn, and tighten down the locknut on the motion sensor,
using caution as to not damage the sensor.

Run the home (item 61) and motion sensor (item 62) wires to the back of the motor.
Remove and replace the motor mount O-Ring (item 66).

Replace the motor housing (item 10).

Retrieve the motor end cover (item 09) and control cables.

For step 24 refer to electrical drawing provided with your equipment.

Repeat steps 5,6,7 and 8 connecting the wires.

Check all wire connections to ensure they are correct. If one connection is wrong the
ROSSILATOR will not operate. (Ensure all wire connections are tight)

Place the motor end cover (item 09) in position over the tie rods (item 11). Make sure the motor
end cover o-ring (item 66) is seated properly between the motor end cover (item 09) and the
motor housing (item 10).

Replace tie rods (item 11) and tighten down, making sure the motor end cover (item 09) is
correctly positioned on the tie rods (item 11) and the motor cover (item 10).

7.4 Lubrication

The ROSSILATOR is shipped with the proper amount of grease and oil. Should it become necessary to
replace the lubricant, only 425 degrees F waterproof molyslip M.P.G. grease and Petro Canada
Senate 1000 oil should be used. Optional oil can be Shell Omala 1000.

Fill Amount: 9 oz. or 250ml into the screw housing

The ROSSILATOR™ grease and oil should be checked every two years. No substitute for the specified
grease is recommended. This grease and oil may be obtained from JAMES ROSS LIMITED.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 18



Jr

Rossilator Manual James Ross

8 Rossilator Spare Parts

8.1 Recommended Spare Parts for all Rossilator types

While the ROSSILATOR™ s virtually maintenance free if operating under normal wet end conditions,
the following spare parts may be ordered at the discretion of the user. Please have the Rossilator Serial
number available when ordering spares.

AC stepping motor (brushless)

ACME screw

Lock washer

Screw bearing

O-Ring

Thrust tube assembly with nut housing,
tube, bronze nut and tube plug

Thrust tube bushings (2 piece)

e Thrust tube seals (2 required)
e  Wiper Seal
e Clevis

¢ Home and Motion sensor
o 120 VAC
o 24 VDC PNP
o 24 VDC NPN

4 - conductor Cable (Female)
5 - Conductor Cable (Female)
4 - Conductor Receptacle (Male)
5 - Conductor Receptacle (Male)

e CONTROL PANEL SPARES
o Capacitor
o Resistor (3 required)

e PCB CONTROL SPARES

o PCB

o Fuses
= 1/8 AMP
= 2 AMP

8.2 HIGH TEMP Versions — Specific Spare Parts

Motor

End Covers

Seals

Proximity Sensor
Cord Grip Connector
Cable

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 19



Jr

Rossilator Manual
James Ross

8.3 Rossilator — Exploded View

7 ‘

| f /e 777 N
533Gk = Wl

(Junior Rossilator Shown, Standard and HD Similar)

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 20



Rossilator Manual

8.4 JUNIOR Rossilator — Spare Parts List

Jr

James Ross

ltem | Qty. | Description Part Number

01 1 Standard Clevis 704-00008
02 1 Thrust Tube Assembly 800-00001
03 1 Thrust Tube End Plate Bushing Assembly 804-00010
04 1 Screw Housing Assembly 804-00016
05 2 Guide Rod 704-00015
06 1 Rossilator Screw (Junior) 804-00014
07 1 Motor Mount Assembly 804-00015
08 1 Motion Target Assembly 800-00321
09 1 Motor End Cover 700-00159
10 1 Junior Motor Housing 700-00161
11 4 Tie Rod (Junior) 700-00160
12 1 Screw Bearing Spacer 700-00128
50 1 Socket Head Cap Screw 2" UNF X 1” 106-10015
51 1 2" Lock Washer 104-20008
52 2 5/16” UNF X 1” Stud 110-00025
53 2 5/16” Sealing Washer 104-60001
54 2 5/16” UNC X 1 72" Hex Bolt 102-10051
55 1 Retaining Ring (Circlip) 319-00036
56 1 2.047” OD X 0.787” ID Screw Bearing 317-00001
57 1 MB4 Bearing Lock Washer 112-00001
58 1 KM4 Bearing Lock Nut 112-00002
59 1 Screw Seal 320-10012
61 1 Home Sensor — See Options Below
62 1 Motion Sensor — See Options Below

Proximity Sensor, 24VDC PNP 588-00190

Proximity Sensor, 24VDC NPN 588-00180

Proximity Sensor, 120VAC 588-00160
63 1 @3/8” X @3/8” Socket Coupling 319-10002
64 4 #10-32 X %" Socket Head Screw 106-10018
65 4 #10 Lock Washer 104-20012
66 4 #351 O-Ring — See Options Below

Standard O-Ring 320-20001

High Temperature O-Ring 320-30002
67 1 Motor — See Options Below

Motor, 420 Oz/In, @3/8” Shaft, 120 VAC 534-00030

Motor, 420 Oz/In, @3/8” Shaft, 240 VAC 534-00080
68 1 Capacitor 14 microFarad, 250V, 60Hz 504-00060
69 4 4" UNC Hex Nut 103-00001
70 4 4" Lock Washer 104-20003
71 1 5 Conductor Male Receptacle 590-00040
72 1 4 Conductor Male Receptacle 590-00020
73 2 4" NPT Square Head Plug 105-00014
77 1 4 Pin Female Cable, 12 feet (not shown) 502-00010
78 1 5 Pin Female Cable, 12 feet (not shown) 502-00050

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 21



Rossilator Manual

8.5 STANDARD Rossilator - Spare Part list

Jr

James Ross

ltem | Qty. | Description Part Number

01 1 Standard Clevis 704-00008
02 1 Thrust Tube Assembly 804-00001
03 1 Thrust Tube End Plate Assembly 804-00010
04 1 Screw Housing Assembly 804-00016
05 2 Guide Rod 704-00015
06 1 Rossilator Screw 704-00012
07 1 Motor Mount Assembly 804-00015
08 1 Motion Target Assembly 800-00321
09 1 Motor End Cover 700-00159
10 1 Standard Motor Housing 704-00040
11 4 Tie Rod (Standard) 704-00133
12 1 Screw Bearing Spacer 700-00128
50 1 Socket Head Cap Screw 2" UNF X 1” 106-10015
51 1 2" Lock Washer 104-20008
52 2 5/16” UNF X 1” Stud 110-00025
53 2 5/16” Sealing Washer 104-60001
54 2 5/16” UNC X 1 72" Hex Bolt 102-10051
55 1 Retaining Ring (Circlip) 319-00036
56 1 2.047” OD X 0.787” ID Screw Bearing 317-00001
57 1 MB4 Bearing Lock Washer 112-00001
58 1 KM4 Bearing Lock Nut 112-00002
59 1 Screw Seal 320-10012
61 1 Home Sensor — See Options Below

Proximity Sensor, 24VDC PNP 588-00190

Proximity Sensor, 24VDC NPN 588-00180

Proximity Sensor, 120VAC 588-00160
62 1 Motion Sensor — See Options Below

Proximity Sensor, 24VDC PNP 588-00190

Proximity Sensor, 24VDC NPN 588-00180

Proximity Sensor, 120VAC 588-00160
63 1 @5/8” X &1/2” Socket Coupling 319-10001
64 3 #10-32 X 5/8” Socket Head Screw 106-00050
65 3 #10 Lock Washer 104-30013
66 4 Standard #351 O-Ring 320-20001
67 1 Motor — See Options Below

Motor, 700 Oz/In, @1/2” Shaft, 120 VAC 534-00042

Motor, 700 Oz/In, @1/2” Shaft, 240 VAC 534-00077
69 4 4" UNC Hex Nut 103-00001
70 4 4" Lock Washer 104-20003
71 1 5 Conductor Male Receptacle 590-00040
72 1 4 Conductor Male Receptacle 590-00020
73 2 4" NPT Square Head Plug 105-00014
77 1 4 Pin Female Cable, 12 feet (not shown) 502-00010
78 1 5 Pin Female Cable, 12 feet (not shown) 502-00050

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 22



Rossilator Manual

8.6 STANDARD HIGH TEMP Rossilator — Spare Parts List

Jr

James Ross

ltem | Qty. | Description Part Number
01 1 Standard Clevis 704-00008
02 1 Thrust Tube Assembly 804-00001
03 1 Thrust Tube End Plate Assembly — High Temp 804-00009
04 1 Screw Housing Assembly 804-00016
05 2 Guide Rod 704-00015
06 1 Rossilator Screw 704-00012
07 1 Motor Mount Assembly — High Temp 808-00007
08 1 Motion Target Assembly 800-00321
09 1 Motor End Cover — High Temp 704-00132
10 1 Standard Motor Housing 704-00040
11 4 Tie Rod (Standard) 704-00133
12 1 Screw Bearing Spacer 700-00128
50 1 Socket Head Cap Screw 2" UNF X 1” 106-10015
51 1 2" Lock Washer 104-20008
52 2 5/16” UNF X 1” Stud 110-00025
53 2 5/16” Sealing Washer 104-60001
54 2 5/16” UNC X 1 2" Hex Bolt 102-10051
55 1 Retaining Ring (Circlip) 319-00036
56 1 2.047” OD X 0.787” ID Screw Bearing 317-00001
57 1 MB4 Bearing Lock Washer 112-00001
58 1 KM4 Bearing Lock Nut 112-00002
59 1 Screw Seal — High Temp 320-00004
61 1 Home Sensor — High Temp 588-00050
62 1 Motion Sensor — High Temp 588-00050
63 1 @5/8” X &1/2” Socket Coupling 319-10001
64 3 #10-32 X 5/8” Socket Head Screw 106-00050
65 3 #10 Lock Washer 104-30013
66 4 High Temp #351 O-Ring 320-30002
67 1 Motor, 700 Oz/In, @1/2” Shaft, 120 VAC, High Temp. 534-00015
69 4 4" UNC Hex Nut 103-00001
70 4 4" Lock Washer 104-20003
71 1 SS Cord Grip Connector 508-00500
73 2 4" NPT Square Head Plug 105-00014
77 1 9 Conductor Cable, 25 feet (not shown) 502-00009
Rossilator JR STD HD Manual V4.2 Jan 2006.doc 23




Rossilator Manual

8.7 HEAVY DUTY Rossilator — Spare Parts List

Jr

James Ross

ltem | Qty. | Description Part Number

01 1 Standard Clevis 704-00008
02 1 Thrust Tube Assembly 804-00001
03 1 Thrust Tube End Plate Assembly 804-00010
04 1 Screw Housing Assembly 804-00016
05 2 Guide Rod 704-00015
06 1 Rossilator Screw 704-00012
07 1 Motor Mount Assembly 804-00015
08 1 Motion Target Assembly 800-00321
09 1 Motor End Cover 700-00159
10 1 Motor Housing (HD) 704-00134
11 4 Tie Rod (HD) 704-00135
12 1 Screw Bearing Spacer 700-00128
13 1 3:1 Gear Reducer Assembly 800-00013
50 1 Socket Head Cap Screw 2" UNF X 1” 106-10015
51 1 2" Lock Washer 104-20008
52 2 5/16” UNF X 1” Stud 110-00025
53 2 5/16” Sealing Washer 104-60001
54 2 5/16” UNC X 1 72" Hex Bolt 102-10051
55 1 Retaining Ring (Circlip) 319-00036
56 1 2.047” OD X 0.787” ID Screw Bearing 317-00001
57 1 MB4 Bearing Lock Washer 112-00001
58 1 KM4 Bearing Lock Nut 112-00002
59 1 Screw Seal 320-10012
61 1 Home Sensor — See Options Below

Proximity Sensor, 24VDC PNP 588-00190

Proximity Sensor, 24VDC NPN 588-00180

Proximity Sensor, 120VAC 588-00160
62 1 Motion Sensor — See Options Below

Proximity Sensor, 24VDC PNP 588-00190

Proximity Sensor, 24VDC NPN 588-00180

Proximity Sensor, 120VAC 588-00160
63 1 @5/8” X &1/2” Socket Coupling 319-10001
64 6 #10-32 X 5/8” Socket Head Screw 106-00050
65 6 #10 Lock Washer 104-30013
66 4 Standard #351 O-Ring 320-20001
67 1 Motor — See Options Below

Motor, 700 Oz/In, @1/2” Shaft, 120 VAC 534-00042

Motor, 700 Oz/In, @1/2” Shaft, 240 VAC 534-00077
69 4 4" UNC Hex Nut 103-00001
70 4 4" Lock Washer 104-20003
71 1 5 Conductor Male Receptacle 590-00040
72 1 4 Conductor Male Receptacle 590-00020
73 2 4" NPT Square Head Plug 105-00014
77 1 4 Pin Female Cable, 12 feet (not shown) 502-00010
78 1 5 Pin Female Cable, 12 feet (not shown) 502-00050

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 24



Rossilator Manual

8.8 HEAVY DUTY HIGH TEMP Rossilator — Spare Parts List

Jr

James Ross

ltem | Qty. | Description Part Number
01 1 Standard Clevis 704-00008
02 1 Thrust Tube Assembly 804-00001
03 1 Thrust Tube End Plate Assembly — High Temp 804-00009
04 1 Screw Housing Assembly 804-00016
05 2 Guide Rod 704-00015
06 1 Rossilator Screw 704-00012
07 1 Motor Mount Assembly — High Temp 808-00007
08 1 Motion Target Assembly 800-00321
09 1 Motor End Cover — High Temp 704-00132
10 1 Motor Housing (HD) 704-00134
11 4 Tie Rod (HD) 704-00135
12 1 Screw Bearing Spacer 700-00128
13 1 3:1 Gear Reducer Assembly 800-00013
50 1 Socket Head Cap Screw 2" UNF X 1” 106-10015
51 1 2" Lock Washer 104-20008
52 2 5/16” UNF X 1” Stud 110-00025
53 2 5/16” Sealing Washer 104-60001
54 2 5/16” UNC X 1 2" Hex Bolt 102-10051
55 1 Retaining Ring (Circlip) 319-00036
56 1 2.047” OD X 0.787” ID Screw Bearing 317-00001
57 1 MB4 Bearing Lock Washer 112-00001
58 1 KM4 Bearing Lock Nut 112-00002
59 1 Screw Seal — High Temp 320-00004
61 1 Home Sensor — High Temp 588-00050
62 1 Motion Sensor — High Temp 588-00050
63 1 @5/8” X &1/2” Socket Coupling 319-10001
64 6 #10-32 X 5/8” Socket Head Screw 106-00050
65 6 #10 Lock Washer 104-30013
66 4 High Temperature #351 O-Ring 320-30002
67 1 Motor, 700 Oz/In, @1/2” Shaft, 120 VAC, High Temp. 534-00015
69 4 4" UNC Hex Nut 103-00001
70 4 4" Lock Washer 104-20003
71 1 SS Cord Grip Connector 508-00500
73 2 4" NPT Square Head Plug 105-00014
77 1 9 Conductor Cable, 25 feet (not shown) 502-00009
Rossilator JR STD HD Manual V4.2 Jan 2006.doc 25



Jr

Rossilator Manual James Ross

9 Trouble Shooting

9.1 Rossilator does not stroke at all or stops in mid stroke

e Check for any obvious physical restriction of the shower or Rossilator which would prevent
movement, especially on inner shower pipe assemblies.

e If using analog speed reference and the machine is running, check that the analog input signal
is above 4 mA. This value is displayed on the LCD screen. Check dwell time values for belt
length and belt speed.

e Check incoming power supply to panel, main fuse (FO1) and grounding connections
e Check the following status LED’s on the PCB:

SEL SWis on

CUST INT’LK is on

CUST STATUS is on

PANEL LAMP is on

e (Check fuses F6 and F7 on PCB card. F6 is for the motor forward and reverse, while F7 is for
the home and motion sensors, customer interlock and on/off selector switch.

e Check motor and sensor cabling to ensure connections are secure at motor housing,
termination box and panel

e Use a multi meter to measure power supply for motion and home sensors

e Check that customer interlock connections are secure, or jumper wires are in place

9.2 General Inspection of control panel

e Check all ROSSILATOR control cable connections to the terminal blocks and ensure all
connections are tight.

e Check all ground wires and ensure they are properly connected.

e Check all fused terminal block fuses.

e Check PLC or PCB for any physical damage.

e Check PLC or PCB input terminal strip and ensure it is snapped properly in place.
e Check PLC or PCB output terminal strip and ensure it is snapped properly in place.
e Check PLC or PCB LED's for fault condition

9.3 General Inspection of Rossilator
e Check for any physical damage, ensuring there are no dents or broken components.

e Check plugs to ensure they are tight.

9.4 No Power to PLC or PCB
e Check incoming 120 VAC power supply wiring to control panel.

e Check main fuse in control panel. Power supply LED must be ON.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 26



Jr

Rossilator Manual James Ross

9.5 When started the Rossilator motor is on but it doesn’t move

e Check for water penetration in junction box, missing connection between Control Panel and
Rossilator.

e Check the ROSSILATOR wiring blocks making sure they are connected properly.

e Ensure the ROSSILATOR control cable forward and reverse wires are not reversed at the
terminal blocks. Resistance reading as follows:

o Junior Model:
FWD - N =77 ohms
REV - N = 77 ohms
FWD - REV =77 ohms

o Standard Model:
FWD - N = 16 ohms
REV - N =16 ohms
FWD - REV = 327 ohms

e Check ROSSILATOR control cable home sensor wire making sure it is connected to the
terminal block.

e Ensure the ROSSILATOR control cable home and motion wires are not reversed at the terminal
blocks.

e Check the PLC/PCB sensor power supply and ensure it is supplying sensor power.
e Check PLC/PCB input LED for the home sensor and motion sensor.

9.6 When started the Rossilator runs for a few seconds, goes into Alarm and shuts
down

e Check ROSSILATOR control cable motion sensor wire making sure it is connected to the
terminal block.

e Check the PLC sensor power supply and ensure it is supplying power to the motion sensor.
e Check PLC input LED for the motion sensor.

e Check ROSSILATOR to see if it has jammed.

e Check the alignment of the ROSSILATOR and Shower.

e Check for mechanical binding.

e If all of above are correct the motion sensor would be suspect.

9.7 When the Rossilator goes out to its maximum limit, jams, goes into alarm and
shuts down

e Check ROSSILATOR™ control cable reverse wire and ensure it is properly connected to the
terminal block.

e Check to see if the ROSSILATOR™ has jammed.

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 27



Rossilator Manual

Jr

James Ross

9.8 When using a speed sensor or analog input (for machine speed reference)

IF STATION IS STARTED, THE ROSSILATOR DOESN'T MOVE AND GOES INTO ALARM AND
SHUTS DOWN:

9.9

This will occur when the PLC/PCB is not receiving pulses from the speed sensor or does not
receive at least 4 mA machine speed signal.

Check PLC/PCB 24 VDC power supply ensuring that is supplying power to the speed sensor or
check the analog machine speed signal.

Check all speed sensor wiring connections to the terminal blocks.
Input LED on the PLC should be on if the speed sensor is operating.
Check speed sensor alignment.

If all of above are correct the speed sensor would be suspect.
Forward or reverse operating when they should not

e This would indicate a damaged or defective triac output.

9.10 ROSSILATOR is emitting excessive noise

Check Rossilator screw and motor housing for any obvious signs of damage

Remove the detent pin between the Ross Link and the Rossilator Clevis and check the
Rossilator internal screw and nut for wear by pulling and pushing in and out on the tube. If the
tube moves more than .010” the unit will require a rebuild.

With the Rossilator disconnected from the shower, move the shower by hand to ensure that it
slides easily in its bearings or bushings

If the shower has an outer pipe assembly, make sure there is no debris restricting the motion of
the inner pipe assembly. Move the inner pipe assembly by hand to ensure freedom of
movement

Ensure that the Rossilator and shower pipe are properly aligned

Ensure that the water supply line and drain line (if it is a brush shower) have sufficient travel to
allow the full stroke of the shower

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 28



Jr

Rossilator Manual James Ross

10 Warranty and Guarantee

All new Rossilators are fully warranted for 12 months from date of installation or 18 months from date of
supply. Extended warranty can be granted only if authorized James Ross personnel perform the
installation service. Contact your James Ross Limited representative for further information.

JAMES ROSS LIMITED warrants that the ROSSILATOR™ System is free from defects, faulty materials
or faulty workmanship for a period of one year from the date of purchase.

JAMES ROSS LIMITED also warrants that the ROSSILATOR™ System will perform to design
specifications, provided it is installed according to installation instructions provided.

This guarantee is null and void if the ROSSILATOR™ is damaged through no fault of JAMES ROSS
LIMITED, or if the ROSSILATOR™ is disassembled and incorrectly assembled and activated.

This guarantee is null and void should the ROSSILATOR™ not be connected to its shower by a double
ended spherical rod end link supplied either by JAMES ROSS LIMITED or obtained directly by the end
user.

JAMES ROSS LIMITED can not be held responsible for any damage to related equipment or production
loss caused by a Rossilator. To prevent injuries or damages caused due to improper handling,
installation or repair of Rossilators only qualified personnel (James Ross Service) should handle repair
work and installation.

10.1 Rebuild Guarantee

James Ross Limited provides rebuilding services for all its oscillation systems. Our rebuilds repair the
unit and upgrade it to current design standards. All Rossilators rebuilt by James Ross Limited are fully
warranted for 12 months from date of installation or 18 months from date of supply. Contact your James
Ross Limited representative for further information.

11 James Ross Contact Information

Any problems encountered with any of the ROSSILATOR™ family should be reported to JAMES ROSS
LIMITED. The serial number should be determined beforehand to enable us to better help you. The
serial number is stamped on the front housing of the ROSSILATOR™.

CANADA - USA - MEXICO EUROPE - ASIA - SOUTH AMERICA
JAMES ROSS LIMITED IBS Austria GmbH,
Division James Ross

Phone: 1 800 493 6663

1613 342 7734 Phone:+43 3582 8511 - 65
Fax: 1 613 342 8439 Fax: +43 35828511 - 31
Customerservice@jamesross.com office@ibs-austria.com
www.ibs-ppg.com www.ibs-ppg.com
James Ross Limited IBS Austria GmbH
4503 Rowsome Road East A-8833 Teufenbach 63
Elizabethtown, Ontario, Canada Austria - Europe
K6T 1A9

PLEASE DO NOT SHIP ROSSILATORS BACK TO JAMES ROSS WITHOUT CONSULTATION!

Rossilator JR STD HD Manual V4.2 Jan 2006.doc 29



